Revision Answers

Chapter 8 Financial Instruments
Answer 1 - Ambush
Report to the Directors of Ambush, a listed entity

(a)(i)

The following report sets out the principal aspects of IAS 39 and IFRS 9 in relation to financial assets and liabilities.

Classification of financial assets and their measurement

· Financial assets are initially measured at fair value which will normally be the fair value of the consideration paid.

· Transaction costs are included in the initial carrying value of the instrument unless it is carried at fair value through profit or loss when these costs are recognized in profit or loss.

Financial assets are classified into categories as follows:

1. Financial instruments at fair value through profit or loss; this may include either equity instruments, or debt instruments which fail to be designated to be measured at amortised cost. It will include any financial assets held for trading purposes and derivates. Any increase or decrease in fair value is taken to profit or loss. Unrealised holding gains are therefore recognized by applying this accounting treatment. As such, this accounting treatment automatically incorporates accounting for impairment losses.

2. Equity instrument at fair value through other comprehensive income. This category is designated upon initial recognition and is irrevocable. The consequence is that any changes in fair value, including the impact of any holding gains and losses, together with impairment, is recognized in other comprehensive income. Only interest income and dividend income is recognized in profit or loss.

3. Financial assets measure at amortised cost, based on a constant interest rate over the life of the asset. This will comprise debt instruments where the financial asset has complied with two requirements or tests, and the entity has chosen to designate the financial assets to be measured at amortised cost. If either of the requirements has not been complied with, or the entity does not make the designation, such financial assets will be measured at fair value through profit or loss.

The two tests are as follows:

a. The business model test – the financial asset is held primarily to collect the contractual cash flows associated with the financial asset, and

b. The contractual cash flows characteristics test – the cash flows consist solely of collection of interest and principal based on the amount outstanding. Note that convertible debt would not pass the two tests above as it also contains the right or the option to convert the debt into shares at some later date.

IFRS 9 requires that investments in unquoted equity instruments are measured at fair value. The new standard then provides guidance when cost may, or may not, be a reliable approximation to fair value. This is a change from IAS 39 where cost was permitted as a default basis of measurement for unquoted equity instruments.

Therefore, the introduction of IFRS 9 has gone some way to simplification and standardization of recognition, measurement and accounting for impairment of financial assets.

Classification of financial liabilities and their measurement
· Financial liabilities are initially measured at fair value in accordance with IFRS 9, which will normally be the fair value of the consideration received.

· Transaction costs are included in the initial carrying value of the instrument unless it is carried at fair value through profit or loss when these costs are recognized in profit or loss.

· Financial liabilities have two categories:

· those at fair value through profit or loss, and

· other liabilities which are measured at amortised cost based upon a constant interest rate over the life of the liability.

· As with financial assets, those liabilities designated as fair value through profit or loss will include financial liabilities held for trading purposes, together with any derivatives.

(a)(ii)

Fair value option (IFRS 9 only)

· IFRS 9 permits entities to opt to designate liabilities which would normally fall to be measured at amortised cost, to be designated at fair value through profit or loss.

· This designation, if made, must be made upon initial recognition and is irrevocable.

· Where an entity opts for this treatment, any change in fair value of the liability must be separated into two elements as follows:

· Changes in fair value due to own credit risk, which are taken to other comprehensive income, and

· Other changes in fair value, which are taken to profit or loss.

· The fair value option was generally introduced to reduce profit or loss volatility as it can be used to measure an economically matched position in the same way (at fair value).

· Additionally it can be used in place of the normal requirement to separate embedded derivatives as the entire contract is measured at fair value with changes reported in profit or loss, thus removing the possibility of an accounting mismatch.

· Although the fair value option can be of use, it can be used in an inappropriate manner thus defeating its original purpose. For example, companies might apply the option to instruments whose fair value is difficult to estimate so as to smooth profit or loss as valuation of these instruments might be subjective.
· The introduction of IFRS 9 has re-emphasized the importance of fair value as the primary basis for measurement of financial assets and financial liabilities. It is regarded as being relevant information to users of financial information and, in many cases, can be reliably measured for inclusion in the financial statements.

(b)(i)

· For financial assets measured at amortised cost, IFRS 9 requires an entity to assess at the end of each reporting period whether there is any objective evidence that financial assets are impaired and whether the impairment impacts on future cash flows.

· Objective evidence that financial assets are impaired includes the significant financial difficulty of the issuer and whether it becomes probable that the borrower will enter bankruptcy or other financial reorganization.

· If any objective evidence of impairment exists, the entity recognizes any associated impairment loss in profit or loss.

· A loss is incurred only if both of the following two conditions are met:

1. There is objective evidence of impairment as a result of one or more events that occurred after the initial recognition of the asset (a ‘loss event’).

2. The loss event has an impact on the estimated cash flows of the financial asset or group of financial assets that can be reliably estimated.

· For financial assets measured at amortised cost, impaired assets are measured at the present value of the estimated future cash flows discounted using the original effective interest rate of the financial assets.

· Any difference between the carrying amount and the new value of the impaired asset is an impairment loss, which is taken to profit or loss.

· For investments in unquoted equity instruments which are measured at cost as a reliable approximation to fair value, impaired assets are measured at the present value of the estimated future cash flows discounted using the current market rate of return for a similar financial asset.

· Any difference between the previous carrying amount and the new measurement of the impaired asset is recognized as an impairment loss in profit or loss.

(b)(ii)

· The loan to Bromwich complies with both the business model test and the contract cash flows characteristics test. It is therefore appropriate for this financial asset to be designated at amortised cost.

· There is objective evidence of impairment because of the financial difficulties and reorganization of Bromwhich. The impairment loss on the loan will be calculated by discounting the estimated future cash flows.

· The future cash flows will be $100,000 on 30 November 2007. This will be discounted at an effective interest rate of 8% for two years to give a present value of $85,733.

· The loan will, therefore, be impaired by ($200,000 – $85,733), i.e. $114,267.

(Note: IFRS 9 requires accrual of interest on impaired loans at the original effective interest rate. In the year to 30 November 2006 interest of 8% of $85,733, i.e. $6,859 would be accrued.)

Answer 2 – Artwright
(a)

All derivatives have to be initially recognized at fair value, i.e. at the consideration given or received. As financial instruments, all derivatives are initially recognized when the company becomes a party to the contract.

Derivative A

· Artwright has entered into this derivative for speculative purposes. IFRS 9 requires that all derivatives held as a financial asset which is not part of a hedging arrangement are accounted for at fair value through profit or loss.

· It has no existing exposure to the risk of fluctuating oil prices so it cannot be regarded as hedging a risk. In such circumstances the derivative is classified as fair value through profit or loss.

· The loss of $20 million that has been incurred has to be immediately recognized in profit or loss.

Derivative B

· Artwright appears to have entered into the derivatives that act against changes in the fair value of the asset. As such this is an example of hedging.

· IAS 39 currently deals with hedge accounting requirements until such time as the provisions of IFRS 9 are extended to include this issue.

· This type of hedging is known as a fair value hedge as the risk being hedged is the change in value of a recognized asset or liability.

· Assuming that the preconditions of hedge accounting are properly met then the standard applies the principle of substance over form.

· IAS 39 requires that both the gain and loss are immediately offset against each other in profit or loss. The loss on the derivative is $10 million.

	Tutorial Notes:

Under IAS 39 hedge accounting rules can only be applied to a fair value hedge if the hedging relationship meets four criteria.

(a)
At the inception of the hedge there must be formal documentation identifying the hedged item and the hedging instrument.

(b)
The hedge is expected to be highly effective.

(c)
The effectiveness of the hedge can be measured reliably (i.e. the fair value/cash flows of the item and the instrument can be measured reliably).

(d)
The hedge has been assessed on an on-going basis and is determined to have been effective.

A hedge is viewed as being highly effective if actual results are within a range of 80% to 125%.


Derivative C

· Artwright appears to have entered into the derivative again as a type of cash flow hedge as the risk being hedged is a prospective cash flow.

· The gain on the derivative acting as a cash flow hedging instrument is therefore recognized in other comprehensive income and taken to other components of equity where, in effect, it is held pending at some future date the actual cash flow.

· At that later date it can then be reclassified (recycled) out of the comprehensive income and offset in profit or loss against the cash flow.

(b)

Impairment of receivables

· The financial asset is impaired if its carrying amount is greater than the present value of the expected future cash flows discounted at the financial instrument’s original effective interest rate.

· Normally, receivables would be expected to be designated to be measured at amortised cost, provided that both the business model test and contractual cash flow characteristics test is complied with per IFRS 9.

· In the case of Artwright, the following impairment will occur:

	
	Due dates

	
	31.5.05
	30.11.05

	
	$000
	$000

	Total contractual cash flows
	1,050
	1,100

	Total expected cash flows
	1,000
	1,040

	Difference = loss
	50
	60

	Discount factor at 10% for 6 months/1 year
	0.953
	0.909

	Impairment
	47.65
	54.54


· Therefore, the total impairment of the loans outstanding at 30 November 2005 is $102,190 ($47,650 + $54,540)

Conversion of receivable to a loan

· The financial difficulties of the customer are an indication of an impaired asset. The question arises as to whether a borrower’s financial difficulties will cause the recognition of an impairment loss.

· Whether the loan is impaired will depend on the terms of the restructured loan. The loss due to impairment will be the difference between the asset’s carrying amount and the expected future cash flows under the new loan agreement.

· The discount rate used will be the effective interest rate of 10%. The present value of the future principal and interest payments will in this case be equal to the carrying amount of (200,000 – 100,000 + 16,500) $116,500 and no impairment will be recognized.

(c)

Derecognition of a financial asset – factoring of receivables

· The question arises as to whether the sale of the receivables should result in them being derecognized in the statement of financial position.

· Artwright has in effect transferred control of a financial asset and in doing so has created a new financial liability.

· The provision of the limited guarantee creates the new liability which should be recognized at fair value. Because Artwright has transferred the control over the receivables and the bank has the contractual right to receive cash payments from the trade receivables and Artwright, then the transaction should be derecognized and treated as a sale.

· The sale would be recorded as follows:

	
	Dr. ($000)
	Cr. ($000

	Cash received
	440
	

	Loss on disposal – profit or loss
	72
	

	Receivables (sold)
	
	500

	Liabilities (fair value)
	
	12


Answer 3 – Aron

(a)

How fair value is determined

· IFRS 13 Fair Value Measurement now formalizes the basis upon which a fair value measurement is determined. This should help to bring consistency to the determination of a fair value measurement, both by an entity over time, and also between entities, to enhance consistency and comparability of information. It should also enhance transparency and understanding.

· The fair value of an asset is defined as the price that would be received to sell an asset, or paid to transfer a liability in an orderly transaction between market participants at the measurement date.

· If available, a quoted market price in an active market for an identical asset or liability is the best evidence of fair value and should be used as the basis for the measurement. IFRS 13 refers to this as Level 1 inputs.

· Level 2 inputs comprise observable inputs, other than those within Level 1, such as prices in an active market for similar, though not identical, assets or liabilites. Such fair value measurements will require assessment as to whether they require any adjustment to arrive at a reliable fair value measurement.

· Level 3 inputs are not directly observable and will typically comprise management estimates and judgements, including the use of pricing or other appropriate models, to arrive at a fair value measurement.

· Fair value should also reflect the assumption that market entrants have had adequate time to undertake reasonable marketing activity. In addition, it is also assumed that any transaction is not based upon a distress or forced basis.

· Transaction costs are ignored as they are regarded as a feature of the transaction, not of the asset or liability to be measured.

Comment on the relevance of fair value measurement

· Fair value is the most relevant measure for most financial instruments. Fair value measurements provide more transparency than historical cost based measurements.

· Reliability is as important as relevance because relevant information that is not reliable is of no use to an investor.

· Fair value measurements should be reliable and computed in a manner that is faithful to the underlying economics of the transaction.

· Measuring financial instruments at fair value should not necessarily mean abandoning historical cost information.

· However, market conditions will affect fair value measurements. In many circumstances, quoted market prices are unavailable. As a result, difficulties occur when making estimates of fair value. It is difficult to apply fair value measures in illiquid markets and to decide how and when models should be used for fair valuation.

· Fair value information can provide a value at the point in time that it is measured but its relevance will depend on the volatility of the market inputs and whether the instruments are actively traded or are held for the long term.

· IFRS 13 requires significant disclosures relating to how fair value measurements have been determined for inclusion in the financial statements, including categorization of inputs used to determine such measurements.

(b)(i)

Convertible bond

· Some compound instruments have both a liability and an equity component from the issuer’s perspective.

· In this case, IAS32 ‘Financial Instruments: Presentation’ requires that the component parts be accounted for and presented separately according to their substance based on the definitions of liabilities and equity.
· The split is made at issuance and not revised for subsequent changes in market interest rates, share prices, or other events that changes the likelihood that the conversion option will be exercised.
· A convertible bond contains two components. One is a financial liability, namely the issuer’s contractual obligation to pay cash in the form of interest or capital, and the other is an equity instrument, which is the holder’s option to convert into shares.
· When the initial carrying amount of a compound financial instrument is required to be allocated to its equity and liability components, the equity component is assigned the residual amount after deducting from the fair value of the instrument as a whole the amount separately determined for the liability component.
· In the case of the bond, the liability element will be determined by discounting the future stream of cash flows which will be the interest to be paid and the final capital balance assuming no conversion.
· The discount rate used will be 9% which is the market rate for similar bonds without the conversion right. The difference between cash received and the liability component is the value of the option.
	Year
	Cash flows
	
	Discount at 9%
	Present value

($000)

	2007 – 2009
	Interest ($100m × 6%)
	$6m
	2.5313
	15,187

	2009
	Principal
	$100m
	0.7722
	77,220

	Total liability component
	
	
	92,407

	Total equity element (bal. fig.)
	
	
	7,593

	Proceeds of issue
	
	
	100,000


The issue cost will have to be allocated between the liability and equity components in proportion to the above proceeds.

	
	Liability
	Equity
	Total

	
	$000
	$000
	$000

	Proceeds
	92,407
	7,593
	100,000

	Issue cost
	(924)
	(76)
	(1,000)

	
	91,483
	7,517
	99,000


The credit to equity of $7,517 would not be re-measured. The liability component of $91,483 would be measured at amortised cost using the effective interest rate of 9·38%, as this spreads the issue costs over the term of the bond. The interest payments will reduce the liability in getting to the year end. The initial entries would have been:
	
	Dr. ($000)
	Cr. ($000)

	Cash
	100,000
	

	Liability
	
	92,407

	Equity
	
	7,593

	(Being recorded the financial instruments)
	
	

	
	
	

	Liability
	924
	

	Equity
	76
	

	Cash
	
	1,000

	(Being recorded the issue cost)
	
	


The liability component balance on 31 May 2009 becomes $100,000 as a result of the effective interest rate of 9·38% being applied and cashflows at 6% based on nominal value.
	Year
	Opening balance
	Effective interest rate (9.38%)
	Interest payment

(6%)
	Closing balance

	
	$000
	$000
	$000
	$000

	2007
	91,483
	8,581
	(6,000)
	94,064

	2008
	94,064
	8,823
	(6,000)
	96,887

	2009
	96,887
	9,088
	(6,000)
	100,000


On conversion of the bond on 31 May 2009, Aron would issue 25 million ordinary shares of $1 and the original equity component together with the balance on the liability will become the consideration.
	
	$000

	Share capital – 25 million at $1
	25,000

	Share premium
	82,517

	Equity and liability components (100,000 + 7,593 – 76)
	107,517


(b)(ii)

· In this situation Aron has to determine if the transfer of shares in Smart qualifies for derecognition.
· The criteria are firstly to determine that the asset has been transferred, and then to determine whether or not the entity has transferred substantially all of the risks and rewards of ownership of the asset.
· If substantially all the risks and rewards have been transferred, the asset is derecognised. If substantially all the risks and rewards have been retained, derecognition of the asset is precluded.
· In this case the transfer of shares qualifies for derecognition as Aron no longer retains any risks and rewards of ownership. In addition Aron obtains a new financial asset which is the shares in Given which should be recognised at fair value. The transaction will be accounted for as follows:
	
	$m

	Proceeds – FV of shares received in Given
	5.5

	Carrying amount of shares in Smart
	5.0

	Gain to profit or loss
	0.5


· The shares in Given should be recognized at fair value of $5.5 million; presumably there will be a designation upon initial recognition to account for this new financial asset at fair value through other comprehensive income if it is to be held on a continuing basis.

· In addition, Aron may choose to make a transfer within equity of the cumulative gain recognized up to disposal date of $400,000.

(b)(iii)

Foreign Subsidiary

· In this situation, IFRS 9 will apply to the debt instrument in the foreign subsidiary’s financial statements and IAS 21, ‘The Effects of Changes in Foreign Exchange Rates’, will apply in translating the financial statements of the subsidiary. Under IAS 21, all exchange differences resulting from translation are recognised in equity until disposal of the subsidiary, then they are recycled to profit or loss as part of the gain or loss on disposal of the subsidiary.

· As the debt instrument is held for trading it will be carried at fair value through profit or loss in Gao’s financial statements.
· Thus at 31 May 2009, there will be a fair value gain of 2 million zloti which will be credited to the income statement of Gao.
· In the consolidated financial statements, the carrying value of the debt at 1 June 2008 would have been $3·3 million (10 million zloti ÷ 3).
· At the year end this carrying value will have increased to $6 million (12 million zloty ÷ 2).
· Aron will translate the income statement of Gao using the average rate of 2·5 zloti to the dollar. Although the fair value of the debt instrument has increased by $2·7 million, Aron will only recognise 2 million zloti ÷ 2·5, i.e. $800,000 of this in the consolidated income statement with the remaining increase in value of ($2·7 – $0·8) million, i.e. $1,900,000 being classified as equity until the disposal of the foreign subsidiary.
	
	$m

	Opening balance at 1 December 2008
	3.3

	Increase in year
	2.7

	Closing balance at 30 November 2009
	6.0


	
	Dr. ($m)
	Cr. ($m)

	Debt instrument
	2.7
	

	Consolidated income statement
	
	0.8

	Equity
	
	1.9


(b)(iv)

· When a financial asset is recognised initially, IFRS 9 requires it to be measured at fair value, plus transaction costs in certain situations.
· Normally the fair value is the fair value of the consideration given. However, the fair value of an interest free loan may not necessarily be its face amount. The instrument’s fair value may be evidenced by comparison with other market transactions in the same instrument. In this case, the fair value may be estimated as the discounted present value of future receipts using the market interest rate.
· If the interest-free loans are to be measured at amortised cost, they must comply with the requirements of both the business model test and the cash flow characteristics test.

· The first test requires that the financial asset is held to collect the contractual cash flows associated with the asset.
· The second test requires that the cash flows consist solely of repayment of interest and capital relating to the financial asset.

· This would appear to be the case; if this was not the case, the financial asset would need to be accounted for as fair value through profit or loss.

· The difference between the fair value of the loan and the face value of the loan will be treated as employee remuneration under IAS 19, ‘Employee Benefits’.
	
	$m

	Fair value of loan at 1 June 2008 (10/1.062)
	8.9

	Employee compensation
	1.1

	Closing balance at 30 November 2009
	10.0


· The employee compensation would be charged to the income statement over the two-year period.
· As the company wishes to classify the asset as loans and receivables, it will be measured at 31 May 2009, at amortised cost using the effective interest method. In this case the effective interest rate will be 6% and the value of the loan in the statement of financial position will be ($8·9 million x 1·06) i.e. $9·43 million. Interest of $0·53 million will be credited to the income statement.
	At 1 June 2008
	Dr. ($m)
	Cr. ($m)

	Loan
	8.9
	

	Employee compensation
	1.1
	

	Cash
	
	10.0

	
	
	

	At 31 May 2009
	
	

	Loan
	0.53
	

	Income statement – interest
	
	0.53


Answer 4 – Wader
(a)

· Trade receivables are financial assets falling under ‘loans and receivables’ in IFRS 9 ‘Financial Instruments’.
· According to this standard, loans and receivables are measured at amortised cost using the effective interest rate method.
· Initially, they will be carried at fair value at the time of recognition, which in the case of trade receivables will be the invoice amount.
· The effective interest rate method spreads the interest income or expense over the life of the financial asset or liability.
· Obviously, such a method does not seem to be relevant to trade receivables where normally there is no interest payment to spread. IFRS 9, therefore, allows short-term receivables with no stated interest rate to be measured at the original invoice amount, if the effect of discounting is immaterial. This would apply to trade receivables and, therefore, they will still be carried at the invoice amount.
· An entity must assess at the end of each reporting period whether there is any objective evidence that a financial asset or group of financial assets is impaired.
· If there is objective evidence that an impairment loss on the financial assets has been incurred, the loss must be recognised in profit or loss.
· Since trade receivables are financial assets, annual impairment assessments must be performed.
· The amount of the loss is determined by looking at the carrying value of the trade receivable and comparing it with the present value of the estimated cash flows discounted at the effective interest rate.
· As previously outlined, trade receivables will not normally be discounted and will not normally have an effective interest rate.
· A formulaic approach is not acceptable unless the formula can be shown to produce an estimate sufficiently close to the method specified in IFRS 9 which requires an estimate of the cash that will actually be received.
· The recognition of future losses based on possible or expected future trends is not in accordance with the IASB Framework and IAS 37, ‘Provisions, Contingent Liabilities and Contingent Assets’. General allowances would, therefore not be allowed as the historical experience is zero and it is unlikely to produce an acceptable estimate of the cash flows to be received.
· Impairment of individually significant balances must be separately assessed and an allowance made when it is probable that the cash due will not be received in full.
· Where there is no objective evidence of impairment, the individual asset is included in a group of financial assets of similar credit risk and the group assessed for impairment.
· Therefore provision must be made for the impairment of Tray, and Milk will be included with other receivables for the purpose of assessing the impairment of a general portfolio of receivables.
· In the case of Wader, therefore, the basis of the impairment loss is flawed. The general allowance will not be allowed.
· As the due date for the receipt of cash from Tray is one year hence, then it could be argued that discounting should be used to calculate any impairment loss. The impairment will be calculated as follows:
	
	Balance
	Cash

	
	$m
	$m

	Tray ($4.1m discounted at 5%)
	4.0
	3.9

	Milk and other receivables
	7.0
	6.6

	
	11.0
	10.5


· Wader would show a balance of $500,000 on the allowance account, or simply reduce trade receivables by the impairment loss of $500,000.
(b)

· Wader has to estimate the net realisable value (NRV) of the inventory and compare this to its cost as IAS 2 ‘Inventories’ requires inventory to be valued at the lower of cost and NRV.
· NRV is the estimated selling price in the ordinary course of business, less the estimated cost of completion and the estimated costs necessary to make the sale.
· Any write-down should be recognised as an expense in the period in which the write down occurs. Any reversal should be recognised in the income statement in the period in which the reversal occurs.
· The list selling price should be reduced by the customer discounts as this represents the proceeds to be received when the sale is made.
· The warehouse overhead costs will be incurred regardless of how long the inventory is held and are not necessarily incurred to effect the sale.
· It is appropriate to include personnel costs in the estimate of NRV but only where they are necessary.
· In this case the variable component of personnel salaries (commissions) will be taken into account but not the fixed salaries as they are normal overheads and do not influence the sale of the product.
	
	$

	List price
	50

	Customer discounts
	(2.5)

	Commissions – sale
	(10.0)

	Net realizable value
	37.5

	
	

	Cost
	35.0


· No write down of this product is, therefore, required.

(c)

· IAS 16 ‘Property, Plant and Equipment’ requires the increase in the carrying amount of an asset to be credited directly to equity under the heading ‘revaluation surplus’.
· The increase should be recognised in profit or loss to the extent that it reverses a revaluation decrease of the same asset previously recognised in profit or loss. If an asset’s carrying amount is decreased as a result of a revaluation, the decrease shall be recognised in profit or loss.
· However, the decrease is debited to equity (revaluation surplus) to the extent of any credit balance existing in revaluation surplus in respect of that asset. The buildings would be accounted for as follows:
	
	Year-ended
	

	
	31 May
	31 May
	

	
	2006
	2007
	

	
	$m
	$m
	

	Cost/valuation
	10
	8
	

	Depreciation ($10m/20)
	(0.5)
	(0.42)
	($8m/19)

	
	9.5
	7.58
	

	Impairment to profit or loss
	(1.5)
	
	

	Reversal of impairment loss to profit or loss
	
	1.42
	

	Gain on revaluation – revaluation surplus
	
	2.00
	

	Carrying amount
	8.0
	11.00
	


· The gain on revaluation in 2007 has been recognised in profit or loss to the extent of the revaluation loss charged in 2006 as adjusted for the additional depreciation (1.5 ÷ 19, i.e. $0.08m) that would have been recognised in 2007 had the opening balance been $9.5 million, and the loss of $1.5 million not been recognised.
· This adjustment for depreciation is not directly mentioned in IAS 16, but is a logical consequence of the application of the matching principle and would be against the principle of IAS 16 if not carried out.
(d)

· A provision under IAS 37 ‘Provisions, Contingent Liabilities and Contingent assets’ can only be made in relation to the entity’s restructuring plans where there is both a detailed formal plan in place and the plans have been announced to those affected.
· The plan should identify areas of the business affected, the impact on employees and the likely cost of the restructuring and the timescale for implementation. There should be a short timescale between communicating the plan and starting to implement it.
· A provision should not be recognised until a plan is formalised.
· A decision to restructure before the balance sheet date is not sufficient in itself for a provision to be recognised.
· A formal plan should be announced prior to the balance sheet date.
· A constructive obligation should have arisen. It arises where there has been a detailed formal plan and this has raised a valid expectation in the minds of those affected.
· The provision should only include direct expenditure arising from the restructuring.
· Such amounts do not include costs associated with ongoing business operations. Costs of retraining staff or relocating continuing staff or marketing or investment in new systems and distribution networks, are excluded.
· It seems as though in this case a constructive obligation has arisen as there have been detailed formal plans approved and communicated thus raising valid expectations. The provision can be allowed subject to the exclusion of the costs outlined above.
· Although executory contracts are outside IAS 37, it is permissible to recognise a provision that is onerous. Onerous contracts can result from restructuring plans or on a stand alone basis.
· A provision should be made for the best estimate of the excess unavoidable costs under the onerous contract.
· This estimate should assess any likely level of future income from new sources. Thus in this case, the rental income from sub-letting the building should be taken into account. The provision should be recognised in the period in which it was identified and a cost recognised in the income statement.
· Recognising an onerous contract provision is not a change in accounting policy under IAS 8 ‘Accounting Policies, Changes in Accounting Estimates and Errors’.
The provision will be the lower of:
	
	2008
	2009
	Total

	Scenario 1
	$
	$
	$

	Rent
	150,000
	150,000
	

	Discount rate
	1.05
	1.052
	

	Present value
	142,857
	136,054
	

	Sub-let income
	(100,000)
	(95,238)
	

	
	42,857
	40,816
	83,673

	
	
	
	

	Scenario 2
	
	
	

	Rent
	270,000
	
	

	Discount rate
	1.05
	
	

	Present value
	257,142
	
	

	Sub-let income
	(100,000)
	
	

	
	157,142
	
	


Therefore, the provision would be $83,673 as this course of action would be more beneficial to the company.
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